P-1I (1+1+1) G /20 (N)
2020
ZOOLOGY (General)
Paper Code : V-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : V- A

Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. DNA polymerase is involved in which one of the following process ?
(A) Translation
(B) Transcription
(C) Replication
(D) TCA Cycle

> | DNA #AfTIEe FItb8 (e A SiReiazd F61?
(A) BT
(B) Grfzesteie
(C) =TI
(D) TCA &

2. Okazaki fragments are formed during which process —
(A) Transduction
(B) Transcription
(C) Translation
(D) Replication

2| I fE pAee eIEs At ofve =m —
(A) GITCRRI
(B) GrfeomIe
(C) GECETI
(D) elfsferfs
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3. Lactose operon of E. coli is of which type —
(A) Monocistronic
(B) Inducible
(C) Repressible
(D) Both (B) and (C)

9| E. coli-a3 TTIFOIS LT (I AP —
(A) SAFTCE
(B) EATCTHe
(C) fcefme
(D) T (B) @k (C)
4. Z-DNA is characterized by —
(A) Left handed helix
(B) Right handed helix
(C) Non helical
(D) Both (A) and (B)
8| Z-DNA @2 =il fofee 1 29 —
(A) IS Peset
(B) TS pesal
(C) weC2fersiet
(D) TS (A) @k (B)
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5. DNA fingerprinting was discovered by —
(A) Alec Jeffreys
(B) Kary Mullis
(C) Nirenberg
(D) Beadle and Tatum

¢ | fCuny Fremmiafte-aa sifEs gt —
(A) TS (G2
(B) if
(C) feaeanst
(D) faee @= GiGw
6. During blood coagulation, thromboplastin is released by —
(A) RBC
(B) Blood plasma
(C) Leucocytes
(D) Clumped platelets and damaged tissues

Y| TS GG A TR, GF B IR Wefe 2w —
INRIRISIE]
(B) SCeS 2irenl
(C) foreTEs
(D) &G Sepferal g2} *Hloars il
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7. The functional unit of contractile system in striated muscle is —
(A) Myofibril
(B) Cross bridge
(C) Z band

(D) Sarcomere

9| BT (*MSfre ACHGEE PIEsa Ffed G300 261 —
(A) eIt
(B) @1 faw
©) Z I
(D) FACFIfEI

8. Which enzyme is related to transfer of electron ?
(A) Desmolase
(B) Dehydrogenase
(C) Hydrolase

(D) Transaminase

b | (I B (e BB 5 ToAfFe ¢
(A) CoACeTS
(B) feazrgirete
(C) FTFITT™
(D) QTSRS
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9. Fumarate is converted to malate by which enzyme —
(A) Fumarase
(B) Aconitase
(C) Succinate dehydrogenase
(D) Malate dehydrogenase

S| PG (FI THS 1 0 HAMEES 27 —
(A) TS
(B) “TPITIRITE
(C) =HICE ferRrgTete

(D) Ut feaiRrgiteteTe

10. During propagation of nerve impulse, the action potential results due to —
(A) Movement of K" ions from intracellular fluid to extracellular fluid
(B) Movement of K" ions from extracellular fluid to intracellular fluid
(C) Movement of Na* ions from extracellular fluid to intracellular fluid

(D) Movement of Na* ions from intracellular fluid to extracellular fluid

o | Ny Tmlel ePReR T, T Ketam Gesfen amed 2o —
(A) TSI OF61 (AT IR OFe 27-@ K+ SAeefer sama
(B) IR @ (ATF @RI O 1@ K S=aslerd 5etpe
(C) A O (AF VIR O 2% Na* ST 5aiibed
(D) TSI OF61 (AT IR ©Fe 2@ Na* S 5aaba
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P-1I (1+1+1) G /20 (N)
2020

ZOOLOGY (General)

Paper Code : IV -B
[New Syllabus]

Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.
Unit - 1

1. Answer any two questions : 4x2=8
(a) Describe Griffith’s experiment of bacterial transformation.
(b) Describe the clover leaf model of t-RNA with diagram.
(c) Write a brief note on DNA fingerprinting along with its applications.
(d) Describe the basic features of DNA model as proposed by Watson and
Crick.
2. Answer any one question : 12x1=12

(a) Define transcription. Describe the process of transcription in prokaryotes.
What is stop codon ? 2+8+2

(b) Write a short note on restriction endonuclease. Define vector used in
recombinant DNA technology with example. Discuss about the scope
of genetic engineering in human welfare. Write the full form RFLP and

RAPD. 4+3+3+2
(c) Compare between A-, B- and Z-DNA. What is hyperchromic shift ?
Differentiate between mRNA and rRNA. 6+2+4
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Unit - 2
3. Answer any two questions : 4x2=8

(a) Distinguish between osmoregulation of freshwater and marine water
teleosts.

(b) Explain the phenomenon of “saltatory conduction” of nerve impulse with
suitable diagram. 2+2

(c) Describe the structure and function of haemoglobin. 2+2

(d) Write a brief note on mechanism of urine formation.

4. Answer any one question : 12x1=12

(a) Define K . Describe with suitable diagram the phenomena of competitive
and non-competitive inhibition of enzyme action. Give at least one
example in each case. 2+3+4+3

(b) Write short notes on : 4x3
(1) Transamination
(i) ABO blood group

(i) Mechanism of synaptic transmission

(c) Define TCA cycle. Describe briefly the steps occurring in the process
of TCA cycle mentioning the enzyme involved in each step. 2+6+4

BBl
0 - S
S| @ (A g6 2t Ted (7Y 8 x3=b
(F) T=ORA FATE BfRem = 3@ 331
() Doz T-uReye-93 @FeR o Treat ¢ 74|
(o) fCaaq fremafefte @3t OIF e@ie-93 eoF A Tl 14 |
(9) A =R (7 GBie fGaay MCeer el (@RFaler adq )
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(F) K 99 k@ 718 | TS fEe eferafrena ar w-aferaifel-
TS qmiF-a7 KRG SoRye bra Al 360 | 2fol (Fea F=10s

9o THEde 7S | 3+9+8+9
(/) e B @1 8 X®
() G

(i) ABO J0eq x4t
(iii) NI Al WM Sl Az awle

(o) TCA Bt&a 7@l wie | & «itsl Tivw SEbad Srard 36 TCA b&F
AfTce 7eEbe smewoteie] AT @ F91
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